—— Bath Ark

Installation Specification




e

i

VGW-V2421DL

STATEMENT

?/D\F

j}_l_l_LﬁJ_l_l;«E

i A

VGW-V3021DL

?P\ﬁ?

o}

o

e

\

VGW-V3621DL




Notice

® Please read this assembly guide thoroughly and carefully before
assembly

® Please ensure your assembly area is clear of any debris or sharp objects
which could scratch or damage the cabinet.

® Our cabinets are treated with paint, which can be fire hazardous, please
avoid storing in areas with high temperature or near the fire.

® Please take caution with small parts inside the package, losing or
misplacing them could affect your overall assembly

® We recommend using power tools (ie: drill, pneumatic nail gun, etc) for
your assembly. This will facilitate your assembly experience.

® Inevent of missing or damaged/defective parts not caused by
wear-and-tear, please contact our authorized dealer for assistant and
we apologize for any inconvenience.

® |f you are not a professional or have no prior experience in cabinet
assembly. We advise excessive caution and follow closely to this
assembly guide.




—— Material List

O

Front Panel Side Panel Back Panel

S x
N
R
N J \
N )
Bottom Panel Decorative Bottom Panel Drawer Face
Door Face Drawer Side Panel Drawer Back Panel Drawer Bottom Panel




—— Material List

Quantit
NO| ITEM  ralisls
1 Drawer Glide 2 (2|2
2 |Drawer Glide Connector| 4 4 | 4
3 BackBrackets | 4 | 4 | 4
4 |SupportBrackets| 4 | 4 | 4
5 | L-Shape Connector Clip| 4 4 | 4
6 1/2” Philips Screw | 46 | 46 | 46
7 1 1/8” Philips Screw | 8 81 8
8 Door Hanger 2122
9 Leg Pad 8 1 8|8
10 Cover Cap 1111




— INSTRUCTION

STEP 1

}Place the face frame in a face down position to
a flat surface.Secure the L-Shape connector
clip with 1/2“Philips screws to the pre-drilled
holes # @

} As show in this picture, slide the side panel
into the face frame's groove located on the
left or right.Then, secure the side panel to
the L-shape connector cip # @ using 1/2“Philips
screws .Repeat this step for the other side panel




— INSTRUCTION

STEP 3

} After securing both side panels, slide the bottom
panel to both side panels grooves and make sure
its fully inserted.Then secure the bottom panel
with the side panels using a L-shape connector clip
using 1/2“Philips screws.Please repeat this step for
the opposite side.

2

~9"

) Attach the cap cover to the hole in
bottom panel.

} Now slide the back panel to the back grooves
of the side panel.Make sure is fully inserted.
Then secure the bottom panel with the side
panels using a L-shape connector clip using
1/2“Philips screws.Please repeat this step
for the opposite side




— INSTRUCTION

STEP 5

) Secure the decorative bottom panel to the bottom
panel previously installed.Secure them using
1 1/8“Philips screws to the pre-drilled holes on
the bottom panel. Same action for another side.

STEP6 @

} Turn the cabinet box to the standing position.
Secure the top four corners using the
“Support Brackets”.Use 5/8“Philips screws.
Two screws per bracket will be enough




INSTRUCTION

STEP 7

) as securing the four corners with brackets. Attach the back bracket to the
pre-drilled holes on the back panel.Then, as shown on #3 slide the U-shape
end of the drawer glide into the back bracket,adjust the depth accordingly.
Lastly,secure the front end of the drawer glide to the face frame using 4/8”
Philips screws.Make sure the front of the drawer glide is recessed approx 3mm
from the face frame.(Not flushed with the face frame)

Picture shown is the complete set of the drawer
glide. Part shown as semi-transparent indicates

this object is movable, which will help in

identifying in the following step.




— INSTRUCTION

@ Assembling the drawer box

STEP 8

A“ s

After securing the drawer glides to the cabinet box.Assembled
drawer box.Properly secure the dove-tailed drawer box panels with
each other.Attach the drawer glide connectors underneath the drawer
box as shown on# B (Two connectors per drawer box as shown on #C) E

.Secure the connectors using screws at the location shown #1,#2 and #3 222

on picture C.Then position the hole (Picture D,#4) on the back of 09? 0
the drawer box and insert it to the movable glide mentioned in Step 7 ’

Refer to Picture E,#5) .Once inserted,push the drawer box all the way
into the cabinet box,the drawer assembly is complete. @

10



— INSTRUCTION

} Last Step, Install the Door; Attach the Door on metal grill and
make sure the bearing is on the grill correctly. The installation
is completed.

Completed A

<<

11



Your Dream We Built

Niturra" Product Department




More Information www.niturra.com



